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307 gl2tol & 1,300,000 700,000 600,000
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= 2,160,862




Il XL el o

P AEEN Y 2N X A

YIS =X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 956,296
< 5,421,628
Al 6,683,116
2018 =X 124,800 134,800 A 10,000
< 48,000
Al 76,800
2l FHPeEa 46,800 44,800 2,000
< 12,000
Al 34,800
201 ¢et24] 46,800 44,800 2,000
< 12,000
Al 34,800
01 At 22l 6,000 6,000 0
o6 gtz 6,000
DO EE sIYESHHA 2
1,000, 000& =63l 6,000
03 & Ar2 Gl 40,800 38,800 2,000
Oxgaretsl(aimldol) 700,000& %243| 16,800
Ogxtel Hgeres 24,000,000 =14l 24,000
< 12,000
Al 12,000
Fgdtlny =29 6,000 6,000 0
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DEY HAMIEEET =22
125,000 »4CH »23] 1,000
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